
I.D.:	86025847

REPARATIE	BULDOEXCAVATOR

Data
publicarii

16.08.23 Coduri	CPV 43200000-5

Pretul
estimativ:

20.906,63	RON	-	20.906,63	RON 	 	

Descriere: DEPLASARE	JILAVA-LUNCAVITA	X	1	BUC;	CAZARE	X	2	BUC;	DINTE	CUPA	HIDROMEK	X	10	BUC;	KIT
PRINDERE	SURUB+	PIULITA	X	20	BUC;	INTINZATOR	X	1	BUC;	INTINZATOR	X	1	BUC;	CUREA
VENTILATOR	X	1	BUC;	TERMOSTAT	X	1	BUC;	KIT	GARNITURI	CILINDRU	GRAIFER	X	1	BUC;	SUPORT
MOTOR	X	2	BUC;	SURUB	M16*1.5*100	X	2	BUC;	SAIBA	A17	X	2	BUC;	PIULITA	M16*1.5	X	2	BUC;
SURUB	M10*30	X	6BUC;SURUB	M10*35	X	2	BUC;	PIULITA	M10	X	8BUC;	OGLINDA	LATERALA	X	1
BUC;	FILTRU	COMBUSTIBIL	PERKINS	X	1	BUC;	PREFILTRU	COMBUSTIBIL	X	1	BUC;	FILTRU	ULEI
PERKINS	X	1	BUC;	PREFILTRU	COMBUSTIBIL	PERKINS	X	1	BUC;	FILTRU	DEF	X	1	BUC;FILTRU	DEF	X
1	BUC;FILTRU	EPURATOR	X	1	BUC;FILTRU	AER	PRIMAR	X	1BUC;	FILTRU	AER	SECURITATE	X	1	BUC;
FILTRU	HIDRAULIC	RETUR	X	1	BUC;FILTRU	HIDRAULIC	ABSORBTIE	X	1	BUC;FILTRU	HABITACLU	X	1
BUC;ULEI	MOTOR	XHP	ESP	10W40	X	20L;	ULEI	TRANSMISIE	HD10W	X	20L;	ULEI	PUNTE	SPATE
FLUID428	X	20L;ULEI	PUNTE	FATA	SHC	75W90	X	20L;ULEI	HIDRAULIC	DTE10	EXCEL46
X80L;MANOPERA	REVIZIE	GENERALA	X	1	BUC;	MANOPERA	REPARATIE(INLOCUIT	PIESE
MENTIONATE)	X	1	BUC;MATERIAL	CONSUMABIL	X	1	BUC


